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Deterministic Selection

SELECT(A,i,n)

if (n=1)
return A[l]

p = MEDIAN(A)

L={rxeA:x<p}
H={xecA: x>p}

if + <|L]
SELECT(L, 1, |L|)
else SELECT(H,7 — |L|, |H]|)
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Deterministic Selection (2)

SELECT(A,i,n)

if (n=1)
return A

Split the items into [n/5| groups 5 (and one more group).
Call these groups G1,Ga, ..., G, s

Find the median m; of each G,

Recursively compute the median of medians,

P = SELECT({mi,..., M5}, [n/10],[n/5])

L={xeA:x<p}
H={zxec A z>p}

if « <|L]
SELECT(L, 1, |L|)
else SELECT(H,: — |L|,|H|)
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Proof




